C:# Division With Tape Diagram Name:

Solve each problem. Answers
1) A box of cupcakes cost ${two}. If you had {thirty-nine} dollars and bought as many boxes
as you could, how much money would you have left? 1
39
r A A 2
bl
3.

2) Thereare {twenty-nine} students going to atrivia competition. If each school van can hold |[ 4
{seven} students, how many vanswill they need?

29
A 5.

| | | | | | 6.

3) A food company has { forty-one} kilograms of food to put into boxes. If each box gets
exactly {two} kilograms, how many full boxes will they have?

41

4) A librarian had to pack {thirty-two} books into boxes. If each box can hold { seven} books,
how many boxes did she need?

32
VAN

5) Cody had {forty-four} baseball cards he's putting into a binder with {five} on each page.
How many cards will he have on the page that isn't full?

r N

6) An art museum had { seventeen} pictures to split equally into { eight} different exhibits.
How many more pictures would they need to make sure each exhibit had the same amount?

17
N\
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C:# Division With Tape Diagram Name: Answer Key

Solve each problem. Answers
1) A box of cupcakes cost ${two}. If you had {thirty-nine} dollars and bought as many boxes
as you could, how much money would you have left? 1 1
39
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3 20
2) Thereare {twenty-nine} students going to atrivia competition. If each school van can hold |[ 4 5
{seven} students, how many vanswill they need?
29
y 5, 4
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3) A food company has { forty-one} kilograms of food to put into boxes. If each box gets
exactly {two} kilograms, how many full boxes will they have?

41

4) A librarian had to pack {thirty-two} books into boxes. If each box can hold { seven} books,
how many boxes did she need?

32
VAN

5) Cody had {forty-four} baseball cards he's putting into a binder with {five} on each page.
How many cards will he have on the page that isn't full?

r N

6) An art museum had { seventeen} pictures to split equally into { eight} different exhibits.
How many more pictures would they need to make sure each exhibit had the same amount?

17
N\
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